

133 MYSTIC LN, JUPITER, FL, 33458

https://ritterproperties.com

Unique one level home with ½ acre of land, located on a private 39 single family home gated community surrounded with fully developed trees, beautiful landscape and water features just 3 miles from the turnpike and i95 and 6 miles from the beach. Features 3601-sqft of living space, 4 bed, 5.5 bath, private office, kitchen [...]

- 5 haths
- residential
- Single Family Residence
- Active
- 3601 sq ft





Basics

Date added: Added 2 days ago

Type: Residential **Bedrooms: 4** beds

Half baths: 1 half bath

Area: 3601 sq ft

SubdivisionName: MYSTIC COVE

GarageSpaces: 2

ListAOR: Miami Association of REALTORS®

Category: Single Family Residence

Status: Active

Bathrooms: 5 baths

Total rooms: 9

Lot size, sq ft: 24503 sq ft

ListOfficeName: Glasbridge LLC

View: None

MLS ID: A11550471

Rooms



Room type	Dimensions	Area	Length	Width
SecondBedroom	19.7 x 13.5	265.95	19.7	13.5
PrimaryBedroom	17.3 x 31.5	544.95	17.3	31.5
ThirdBedroom	15.0 x 13.3	199.5	15	13.3
DiningRoom	14.8 x 17.9	264.92	14.8	17.9
Kitchen	14.6 x 15.10	220.459999	14.6	15.1
FourthBedroom	18.9 x 11.2	211.679999	18.9	11.2
FamilyRoom	23.1 x 20.8	480.48	23.1	20.8
LivingRoom	19.2 x 24.2	464.64	19.2	24.2
Other Room	12.1 x 13.11	158.631	12.1	13.11

Building Details

Cooling features: Central Air **Year built:** 2002

ArchitecturalStyle: Attached, One Story NewConstructionYN: No

Building Name: MYSTIC COVE Exterior material: Slab Construction, Stucco

Roof: Other **Heating:** Central

Parking: Covered, Driveway, Paver Block

Amenities & Features



Features: Attic, Den/Library/Office, First Floor Entry, Utility Room/Laundry, Walk-In Closet(s)

Amenities: Dishwasher, Disposal, Dryer, Electric Water Heater, Gas Range, Gas Water Heater, Ice Maker, Microwave, Refrigerator, Washer

WindowFeatures: Hurricane Shutters

PoolFeatures: Auto Pool Clean, In Ground, Fenced, Equipment Stays, Heated, Pool/Spa

Combo

GarageYN: Yes

CoolingYN: Yes

FireplaceYN: No

Security Features: Smoke Detector

CommunityFeatures: Gated Community, Mandatory Hoa, Paved Road, Private Roads, Sidewalks, Street Lights, Subdivision Restrictions, Underground Utilities

ExteriorFeatures: Fruit Trees, Room For

Pool

Waterfront available: No

AttachedGarageYN: No

PoolPrivateYN: No

